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_ax+ b

Q) If lim > — 5, then a + bis equal to

xr—=1 r—1

(@) — 4 (b) 1 € -7

Ans: (c)

(d) 5
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x cot(4x)

Q) Iim

x— 0 sin? x cot%(2x)
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: xcot(dx) .
| 1to
N v 0 sin® x cot(2x) = e
(@) O (b) 1 (c) 4

Ans: (b)
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\/é (1 — cos? x) |

Q) The value of 1in% 1S
x— X
(a) 1 (b) -1
(c) 0 '/(,d) None of these
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\/% (1 — cos? x) |

Q) The value of lim(.) 1S
x— X
(a) 1 (b) -1
()0 (d) None of these

Ans: (d)
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lim 1 + 2 + ...+ 1s equal to
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a) 0 — =
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Q) ﬁff;(
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Ans: (b)
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(d) None of these
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Q) Iff(a)=2,f" (@)=1,8(@)=-1,8" (@)=2,
gw) fla)-ga) f(x) .

then the value of im

XxX—a u
(2) - 5 ®)
A5 (d) None of these
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Q) If f(a)=2,f" (a)=1, gla)=-1, g’ (a)=2,
gx) fla)- g(a) f(x) ‘s

then the value of im

x> a XxX—a
(a) - 5 (b) é
(¢) 5 (d) None of these

Ans: (c)
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o 1 e
, —1<x<oo, x#0.
Q) If f(x)=<2J1+x -1 is
kR , x=0
continuous everywhere, then £ 1s equal to
(a) % log 2 ) log 4
(c) log 8 (d) log 2
X . P
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Q) If f(x) =<

2" -1

J1+x-1"

—1<x< oo, x#0,
1S

x=0

continuous everywhere, then £ 1s equal to

1
a) — log 2
()2 g

(©) log 8

Ans: (b)

(b) log 4
(d) log 2
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log(3+ x) —log(3 — x)

Q)If lim =k, the value of k 1s
x—0 X
2 D L 2
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Q)If lim log(3+ x) —log(3 — x)

xr—0 X

=k, the value of k 1s

2 1 2
@ =3 ® 0 (o —3 d 3

Ans: (d)
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Q)1f lim{ fx) } exists, then which one ofthe following correct

x—a| g(X)

?
\(}) Both Iim f(x)and lim g(x) must exist

X—a X—a

(b) limf(x)need not exist but lim g(x) must exist
X—a X—a

(¢) Both Iimf(x)and lim g(x) need not exist
X—a X—a

(d) Imif(x) mustexistbut lim g(x) need not exist
X—4a X—a
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Q)1f lim{ fx) } exists, then which one ofthe following correct

x—a| g(X)
?

(@) Both limf(x)and lim g(x) must exist

X—a X—a

(b) limf(x)need not exist but lim g(x) must exist
X—a X—a

(¢) Both Iimf(x)and lim g(x) need not exist
X—a X—a

(d) Imif(x) mustexistbut lim g(x) need not exist
X—4a X—a

Ans: (a)
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Q) What is lime ¥ equal to?

x—0 L el /\
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EXAMS
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Q) What is lime ¥ equal to?

(a) 0 x—0
(b) 1
© -1

(d) Limit does not exist

Ans: (a)

XAMS
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Q) The function f(x) 1S

2 . . .
x”, 1f x1s rational o
f(x) = ’ then, it is
— x?, if x is irrational
\(jzﬂ continuous at x = 0

(b) continuous at x = 5

(c) discontinuous at x =0
(d) None of the above
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Q) The function f(x) 1S

2 . . .
x”, 1if x1s rational .
f(x)= ’ then, 1t 1s
— x?, if x is irrational
(a) continuous at x =0

(b) continuous at x = —

(c) discontinuous at x =0
(d) None of the above

Ans: (a)
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EXAMS

. -1
Q)If the function f(x)= 2% — sin 1x (x#0) 1is
2x+tan " x —

continuous at each point of its domain, then the value
of f(0)1s
(a) 2 \fp{ 1/3 (c) 2/3 (d) —1/3

-
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. -1
Q)If the function f(x)= 2x — sin 1x

(x#0) 1s
2x + tan " x

continuous at each point of its domain, then the value
of f(0)1s
(a) 2 (b) 1/3 (c) 2/3 (d) —1/3

Ans: (b)

EXAMS
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Q)What is égn \/1 _JOS 0 equal to?
0
(a) \2 (0) 22 ©) %
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Q)What is égn \/1 _JOS o equal to?
0
(a) V2 (0) 22 (©) %

Ans: (c)
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Q)/(x) = cos(| x| )1s a continuous function because
(a) composition of continuous functions 1s a
continuous function
(b) product of continuous functions i1s a continuous
function
(c) cosine is an even function
(d) sum of continuous functions is continuous

@i=]
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Q)/(x) = cos(| x| )1s a continuous function because
(a) composition of continuous functions 1s a
continuous function
(b) product of continuous functions 1s a continuous
function
(¢) cosine is an even function
(d) sum of continuous functions is continuous

Ans: (a)

@i=]
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3 2
x” + x

Q)What is lim :
x=>-1 x" +3x + 2

(@) 0 (0) 1 (C) 2

equal to?

(d) 3



NDA 2 2024 - REVISION - MATHS - CLASS 10

3 2
x” + x

Q)What is lim :
x=>-1 x" +3x + 2

(@) 0 (0) 1 (C) 2

Ans: (b)

equal to?

(d) 3
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EXAMS

Q) Let f(x)be defined as follows
2x+1, -3<x<-2
f(x)=1x-1 -2<x<0
x+2  0<x<I

Which one of the following statements is correct in
respect of the above function?

(a) ltis discontinuous at x = — 2 but continuous at every other
point.

(b) It is continuous only in the interval (-3, - 2).

(c) ltis discontinuous at x = 0 but continuous at every other
point.

(d) It is discontinuous at every point.
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@i=]

EXAMS

Q) Let f(x)be defined as follows
2x+1, -3<x<-2
f(x)=1x-1 -2<x<0
x+2  0<x<I

Which one of the following statements is correct in
respect of the above function?

(a) ltis discontinuous at x = — 2 but continuous at every other
point.

(b) Itis continuous only in the interval (-3, — 2).

(c) ltis discontinuous at x = 0 but continuous at every other
point.

(d) It is discontinuous at every point.

Ans: (c)
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EXAMS

Q) If f(x)=+ Sk tanx;x # 0 1s continuous at x =0,
X
k =0
then the value of k1is
(@) 7 (b) 6

(¢c)—5 (d) -1
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EXAMS

Q) If f(x)=+ ikt tanx;x # 0 1s continuous at x =0,
X
|k x=0
then the value of k1is
(@) 7 (b) 6
) -5 () — 4

Ans: (a)
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Q) IfG () =-+/25 — %, then lim Gw-Gd) has the value

r=1 r—1

1 1

(c) — /24 (d) None of these
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Q) IfG () =-+/25 — %, then lim Gw-Gd) has the value

r=1 r—1

1 1
(c) — /24 (d) None of these

Ans: (a)
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EXAMS

QI f(x) =% x 20
1X]
where [ ] denotes the greatest
integer function, then what is the
right-hand limit of f(x)at x =17
(@) — 1
(b) O
(c) 1
(d) Right-hand limit of f(x)at x = 1does
not exist
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QI f(x)= 2 x 20

| X1

EXAMS

where [ ] denotes the greatest

integer function, then what is the

right-hand limit of f(x)at x =17

(@) —1

(b) 0

el

(d) Right-hand limit of f(x) at x = 1does
not exist

Ans: (c)
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EXAMS

Q) Consider the following function /: R — R such that
fix)=xif x > 0 and flx) =—=x2if x < 0. Then, which one of the
following 1s correct?
(@) f(x) 1s continuous at every xeR
(b) f(x) 1s continuous at x =0 only
(c) f(x) 1s discontinous at x = 0 only
(d) f(x) 1s discontinuous at every xeR
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EXAMS

Q) Consider the following function /: R — R such that
fix)=xif x > 0 and flx) =—=x2if x < 0. Then, which one of the
following 1s correct?
(@) f(x) 1s continuous at every xeR
(b) f(x) 1s continuous at x =0 only
(c) f(x) 1s discontinous at x = 0 only
(d) f(x) 1s discontinuous at every xeR

Ans: (a)
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EEEEE

Q) A function f 1s defined as follows

f(x)=x" cos (1) ,x#0, f(0)=0.

X

What conditions should be imposed on p, so that f
may be continuous at x = 07

(@) p=0 b) p>0
(c) p<O (d) No value of p
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EEEEE

Q) A function f 1s defined as follows

f(x)=x" cos (1) ,x#0, f(0)=0.

X

What conditions should be imposed on p, so that f
may be continuous at x = 07

(@) p=0 b) p>0
(c) p<O (d) No value of p

Ans: (b)
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log (1 + ax) — log (1 — bx)
X

1s not defined at x=0. The value which should be
assignedto fat x =0, sothatitis continuousatx =0, is

(a)a—b (b)a+ b
(c) loga + logh (d) None of these

Q) The function f (x) =
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log (1 + ax) — log (1 — bx)
X

1s not defined at x=0. The value which should be
assignedto fat x =0, sothatitis continuousatx =0, is

(a)a—b (b)a+ b
(c) loga + logh (d) None of these

Q) The function f (x) =

Ans: (b)
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. 2
Q) sm(n COS™ x)
lim 5
x—0 x°

1s equal to:

(@ -m (b) m (

@

)

| 3

d) 1



NDA 2 2024 - REVISION - MATHS - CLASS 10

EXAMS

- 2
Q) sm(n COS™ x)

lim 5 1s equal to:
x—0 X<
T
@ -m (b) = © 3 (d) 1

Ans: (b)
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EXAMS

i3 i
2sIn” x+sinx—1

Q) What is lim equal to?
s 2sin® x —3sin x + 1
6
1 1
B b) — — Cc) -2 d) -3
(@) 5 (D) = (C) (d)
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EXAMS

i3 :
2sIn” x+sinx—1

Q) What is lim equal to?
. 2sin® x —3sin x + 1
6
1 1
a) — — b) — — c)—2 d) -3
(@) 5 (D) = (C) (d)

Ans: (d)
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sin'x—tan ' x .

Q) lim | 1s equal to

x—0 '

(a) 0 (b) 1

(c) —1

(d) 1/2
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sin'x—tan ' x .

Q) Iim ; 1s equal to
x— 0 X
(a) O (b) 1 (c) —1

Ans: (d)

(d) 1/2
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Q) Consider the function

ax —2 for 2<x<-1
fx)= < —1 for -1<x<1

_a+2(x—1)2 for 1<x<2

What is the value of a for which f(x) is continuous at x =—1
andx=17?

@ -1 (b) 1

) 0 @ 2

@i=]
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Q) Consider the function

ax —2 for 2<x<-1
fx)= < —1 for -1<x<1

_a+2(x—1)2 for 1<x<2

What is the value of a for which f(x) is continuous at x =—1
andx=1?

@ -1 () 1
© 0 d 2

Ans: (a)

@i=]
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Q) If lim

X — o0

x° +1

_x2+1

—

— (ax + b)

—

(a) a=land b=1
(c) a=land b=-2

= 2,then

(b)) a=1land b=-1
(d) a=1and b= 2
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Q) If lim

X — o0

x° +1

_x2+1

—

— (ax + b)

—

(a) a=land b=1
(c) a=land b=-2

Ans: (c)

= 2,then

(b) a=land b=-1
(d) a=1land b=2
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Q) Whal is lim a +b

n—)man _bn

where a> b > 1, equal to?
(@) — 1 (b) O

(c) 1

(d) Limit does not exist
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a + b"

Q) Whal is lim

n—)man _bn

where a> b > 1, equal to?
(@) — 1 (b) O

(c) 1

(d) Limit does not exist

Ans: (c)

EXAMS
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EXAMS

1+1, 0< x<2
Q) Let f(x)=1" " 2k

| kx, 28 x<4
If lim f(x) exists, then what is the

X— 2

value of k?
(@) -2 (b) — 1
() 0 (d) 1



NDA 2 2024 - REVISION - MATHS - CLASS 10
@

EXAMS

1+i, 0< x<2
Q) Let f(x)=1" " 2k

| kx, s
If lim f(x) exists, then what is the

xX— 2
value of k?
(@) -2 (b) -1
() 0 (d) 1

Ans: (d)
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Q) Consider the following statements

in respect of the function.
. 1
f(x)=sin (?} x #0.

1. It is continuous at x =0,
if f(0)=0.
. 2
2. It is continuous at x = T
X
Which of the above statements
is/arc corrcct?
(@) 1 only (b) 2 only
(c) Both1and 2 (d) Neither 1 nor 2

@i=]



NDA 2 2024 - REVISION - MATHS - CLASS 10

Q) Consider the following statements

in respect of the function.
. 1
f(x)=sin (?], x #0.

1. It is continuous at x =0,
if f(0)=0.
2

2. It is continuous at x = —.

Vx

Which of the above statements
is/arc correct?

(@) 1 only (b) 2 only

(c) Both1and 2 (d) Neither 1 nor 2

Ans: (b)

@i=]
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Q)If f(x)= \/25—x2 , then what is lim f(x) = f(1) equal to?

x—1 x—1
R 1
43 43

(@) - (c)

1 1
o O
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EEEEE

Q)If f(x)= \/25—x2 , then what is lim f(x) = f(1) equal to?

x—1 x—1
1 1

@)~ 43 43

1 1
o O ©

Ans: (a)
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REVISION
TOPICS :

e Differentiability and

AUk Differentiation
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